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M1 is in the saturation zone.
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Conclusion

Seen from Drain:
R = ro-l_RS-l_gmroRS
If g, Rg >> 1,
R = gmroRS
If g Rg << 1,
R=r,
Seen from Source:
R - [(1/gm)”ro](1+RD/ro)
If Rp >>r,,
R = RD/(gmro)
If Rg <<,
R=1/g,
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DC Gain

Hints for gain calculation:

First, find the equivalent transconductance;
Second, find the output resistance;

Third, find their multiplication.
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M1, M2, M3 are in the saturation zone.
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Pole

M1 is in the saturation zone, r, Is very large, R <<r.,.

1. DC gain?
2. Poles?
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Frequency Response

M2 is in the saturation zone.
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M1, M2 saturated
1/9.,; = 1/9,,, = 150 Q
A=A, =0V

Cys1 = Cysp = 250 fF
Cya1 = Cyqp = 80 fF
Cio1 = Cypo = 100 fF
Find all the poles.
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Thank you
for
your attention!
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